4.

S.

What is an attribute in a relation ?

(A) A database column
(B) A database row

(C) A database constraint
(D) A database table

(E) Not attempted

If the cost price is 96% of the selling
price, then what is the Profit percent ?
(A) 4.17% (B) 5.17%

(C) 6.17% (D) 3.17%

(E) Not attempted

Haryana Govt. had declared which
among the following year as ‘The Year
of Industry and Employment’ ?
(A) 2012

(B) 2013 Ff{ﬁ#"fﬂ
(C) 2011 -
(D) 2014

(E) Not attempted

The outermost solid cover or shell of
the earth is known as

(A) Sima

(B) Sial

(C) Igneous

(D) Earth crust
(E) Not attempted

Anil introduce Rohit as the son of the
only brother of his father’s wife. How
is Rohit related to Anil ?

(B) Uncle
(D) Son

(A) Brother
(C) Cousin
(E) Not attempted

CG - CcG23

frer # Ao #n 2 2
(A) T SHH FHiem
(B) T S

(C) Th STEH HiTeiz
(D) T STEH ¢aw

(E) ITSTa

afe %7 uea T e 1 96% 2,
i wfea w0 2 7
) 4.17%

(C) 6.17%

(E)

R TR 3 Feffaa § & 5 od =i
< ZenT 3R USPIR &1 a9 o fpam 2 7

(A) 2012
(B) 2013
(C) 2011
QR RI0]

(D) 2014 ﬁ;ﬁ
(E) Irwanfad

yeHt i g8 ARl 3 W 41 e
HEard 2 |

(A) €
(B) frma
(C) T3

(D) =t Ht
(E) 3@

sfret Ufea =1 whea 3ae R 6 oeh
¥ UHAE WIS b [H & § F w0 2
Ufea e & foFg W waft R 7

(A) W (B) ==
© s (D)@
(E) arrnfid

(B) 5.17%
(D) 3.17%
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6.

7.

10.

The water accumulated under the
ground surface in this manner

(A) Well (B) Canal

(C) Ground water (D) Spring

(E) Not attempted

With the help of which of the

following international organizations,

Haryana Community Forestry Project

was started ?

(A) World Bank

(B) European Commission

(C) South Asian Association for
Regional Cooperation (SAARC)

(D) None of these DRAD)
(E) Not attempted %%

Which Article in the Indian Constitution
is related to the Equal Justice and Free
Legal Aid ?

(A) Article 39A
(C) Article 39D
(E) Not attempted

(B) Article 39C
(D) Article 39B

Full form of RKVY is

(A) Rashtriya Krishi Vikas Yojana
(B) Rajya Krishi Vikas Yojana

(C) Rajya Kendra Vikas Yojana
(D) None of these

(E) Not attempted

Which function is used to free up

memory allocated by malloc(), calloc()
or realloc() ?

(A) clear() (B) reset()

(C) free() (D) deallocate()

(E) Not attempted

6.

B3
b W
s

10.

CG - CG23

7q % @ ufit % Fag % F 7 D
g1 2

(A) FH
(c) wim S
(E) Jrsrnfad

frferfiaa § & fra sfadsia e i

wETal & giEmn angifies St giEr

3R &8 7

(A) Tova &=

(B) U ST

(©) TRy TREA JEEeE B {5
HIHTRIHA (SAARC)

(D) 37 A BIE TE

(E) 3rwnfea

R ™ &1 HH-91 =0 =E
%F gaM AR 3R g fafus gema &
wefta 8 7
(%) FTE 39A  (B) IT=HE 39C

(D) 3I=B¢ 39B

(C) ¥T=dg 39D
(E) STvaiea

(B) &
(D) f&m

RKVY & foem &9 2

() T P forehr Ao
(B) TS Y fomprd s
(C) T g faepma A
(D) ¥ & Hg &

(E) Irwfa

malloc(), calloc() AT realloc() &R
Smifa A ) T O F R R
G 1 I foR an & 7

(A) clear() (B) reset()

(C) free() (D) deallocate()
(E) waféa
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11.

12I

13.

14.

15.

RIDF was established in

(A) 1995 -1996 (B) 1992 - 1996
(C) 1993 -1995 (D) 1992 - 1993
(E) Not attempted

Which of the following is used to
manipulate data from a database ?

(A) Data Manipulation Language (DML)
(B) Structured Query Language (SQL)
(C) Data Definition Language (DDL)
(D) None of the above

(E) Not attempted

Evaluate : 28% of 450 + 45% of 280.

E3E
(B) 356 an;fg*

E!..d'l.:‘é
(D) 254

(A) 252
(C) 201
(E) Not attempted

Which Article in the Indian Constitution
is related to the Abolition of
Untouchability ?

(A) Article 117

(B) Article 18

(C) Article 121

(D) Article 17

(E) Not attempted

was the longest serving
Governor of Haryana.

(A) Birendra Narayan Chakraborty
(B) Ranjit Singh Narula
(C) Jaisukh Lal Hathi
(D) Dharma Vira
(E) Not attempted

11.

12.

13.

14.

15.

CcG - cG23

RIDF % wrfoa g3 |
(A) 1995 - 1996 (B) 1992~ 1996
(€) 1993 1995 (D) 1992~ 1993

(E)

ﬁﬁmﬁammwﬁ
aaaeraagamaaammw%?

) 321 AR dest (DML)
(B) wHE T e (SQL)
() 31 2ftefem et (DDL)
(D) 70 # A IS TE

(E) ITsaTHa

450 1 28% + 280 FT 45% T A1 srd
it |

A) 252 (B) 356
(C) 201 (D) 254
(E)

Tt RV 1 -8 AT
sreqetar ¥ I9[eF § Hafua 8 7
(A) Ig=o8 117

(B) 3<% 18

(C) F=ag 121

(D) TS 17
(E) ST

R @ TTE 9 |
(&) it ATV SR
(B) Tofta e &
(C) wagE we Fedt



16.

17.

18,

19,

Full form of Npjg ;
(4) Nationa

Survey
(D) None of thege
(E) Not attempteq

Pointing to a Photograph, a man said
“I have no brother o sister but that’
man’s father is my father's son”.
Whose photograph was it ?

(A) His son’s

(B) His father’s

(C) His own

(D) None of these

(E) Not attempted

Transformation of Aspirational Districts

Programme was announced by
(A) Atal Pension Yojana

(B) Pradhan Mantri Yojana
(C) NITI Aayog E'E’
(D) None of these i
(E) Not attempted

NaT
0|

,.
Lo
F

£l
O

-

What is a stream in C Program ?

(A) A way of handling input/output
operations in a prog.ram .

(B) A type of loop used in decision-
making

(C) A type of functi©
manipulate strings

(D) A type of data struc
store variables

(E) Not attempted

ture used to

16.

17.

4?‘ P
et 10

18.

19.

CG - CG23

NAIS 1 fodrR ®=a 8

(A) AT T 9ty whiT
(B) A9 firheater 39gE whiN
(€) Foer STefiicy SEiege ad
(D) ¥ & H§ TE

(E) 3Twied

o firr 1 ol 3 w0 g, & A
3 71, B A W 41 7 T R WG
=ifF & fren M fa & @@ & aw R
R 2 7

(A) I T HI

(B) 37 e =1

(C) IAF T

(D) 3 § IE TH

(E)

et faen Fmimn @1 F9Ta, g8
FEFEY 0 Hifa fean mam)
(A) 3TA GIA T

(B) WHTAH AT

(€) ifa smam

cim A FH RR ?

(A) T T | 3992 /313YE HHeH i
HYTEH &1 39

(B) favfa &1 "<t Tw=T § ST T
Gﬁw@mm@

(©) f&n = afed = % forg 3w
fopan < T U wER H wR
= ang o foman e 2

(E) Twaniya



What was the percentage increase
in the foreign exchange reserves in
1997 - 98 over 1993 - 94 ?

FOREIGN EXCHANGE RESERVES OF A
COUNTRY/(IN MILLION US $)

199192 1992-93 1993-94 1994-95 1995-96 1996-97 1997-98 199899

21.

22.

(&) 150
(C) 620
(E) Not attempted

(B) 200
(D) 100

Which of the following is used to
define the structure of a database ?

(A) Data Manipulation Language (DML)
(B) Structured Query Language (SQL)
(C) Data Definition Language (DDL)
(D) None of the above

(E) Not attempted

Full form of IMRB is

(A) Indian Market Rural Business

(B) International Market Research

Bureau
(C) Indian Market Research Bureau
(D) None of these

(E) Not attempted

cG - CG23

1993 - 94 & 1997 — og # el farfoert

20.
ser # e sga a1 ot ?

i

s g m—

(A) 150 (B) 200

E'“T},Tg (C) 620 {P) 100

N gy s

21. derdw i wrEAr @ qionfid @ F
forer 1 & w3 foFa ST R 7
(A) 31 AFERTH d@s (DML)
{8) TFE Tl AT (SQL)
(©) 31 fhfem o= (DDL)
D) ot 3 9
(E) ITvaiad

22. IMRB % fawr ¥4 2
(a) 3femm mrhe T faemw
(B) FewTme Wehe fead =
(¢ sfem ke T =@
(D) ¥ | IS T
(E) It
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23.

24.

25.

26.

27.

This Pe€rson
be appoi Pecame the first Indi
PPointed g ian to

Punjab High . the 14 Chief Justice of

urt in 1913
(A) Sir Shadilal

(B) Dr. Saryp, Singh

(C) Chssu.u:lhm.y Bansila]
(D) Sir Choty Ram

(E) Not attempteqg

Nationé.ll Agricultura] Co-operative
Marketing F ederation (NAFED) was
established on
(A) 2™ October 1985
. Opey
(B) 2™ September 1958 3'5{%%
(C) 2™ October 1983 K
(D) 2™ October 1958
(E) Not attempted

Who was the founder of the Shunga
Dynasty ?

(A) Bimbisara (B) Agnimitra

(C) Pushyamitra (D) Ajathashatru
(E) Not attempted

A cyclist covers a distance of 750 m
in 2 min. 30 sec., what is the Speed

in km/hr of the cyclist ?
(A) 12 km/hr  (B) 17 km/hr
(C) 18 km/hr (D) 13 km/hr

[E) Not attempted

Which of the following modes is used
for opening a file for appending ?

A) B) @

C) & D) W

) Not attempted

23.

25.

26.

27.

CG - CG23

39 SR A 1913 § vom 3= =EeE F
Yt AT g1 =qrsior % = § g
o T

1K) B AT

(B) =i. @&y fém

(C) el s

(D) T B 1

(E) 3T5amia

T FiY gewr! fauom Hetve
(NAFED) _____ = wifuq fopar |

48) 2 T 1985

(B) 2 fadat 1958

(C) 2 S 1983

(P} 2 R 1958

(E) 3rv=nfa

I 997 1 HEATYSH BT 9T ?

(A) Tafemm (B) faf
{€) qeafE (D) ¥y
(E) Tvafaa

T 1§l FaR TF 750 m 1 gt
2 fime 30 Sz ¥ T w T R, A
R F1 T km/hr § #7122

(A) 12 km/hr (B) 17 km/hr

{€) 18 km/hr (D) 13 km/hr

(E) 3w

T & R W i3 @rent b form gy
Y | frw WS o1 Iwim fRn s @ 2
(A) T (B) ‘a’

(C) ¥ (D) ‘W’

(E) 3rsrnfea



28.

29.

30.

31.

32.

Which type of join returns only the
rows that have matching values in
both table ? '

(A) Outer join {B) Left join

(C) Inner join (D) Right join

(E) Not attempted

Full form of MUDRA is

(A) Micro Units and Development
Refinance Agency Ltd.

(B) Micro Units and Development
Reference Agency

(C) Mantri Union Development
Refinance Agency Ltd.

(D) Mantri Union Development
Reference Agency

(E) Not attempted

Which planet is known as the “Watery
Planet” ?

(A) Earth

(C) Jupiter

(E) Not attempted

(B) Mars
(D) Mercury

B

Which of the following pairs is éﬁﬁ%

correctly matched ?

(A) National Dairy Research Institute :
Manesar

(B) YMCA University of Science and
Technology : Faridabad

(C) Lingaya’s University : Hisar

(D) National Brain Research Centre :
Hisar

(E) Not attempted

Jayer lies below the crust.

(B) Rocks

(A) Core
(D) None of these

(©) Mantle
(E) Not attempted

28.

29.

31.

32.

CG - CG23

mmmwmaﬂﬁﬁ
| T 2 R 2 anferemat #
T e 7

(a) EQ STE (B) T T

(D) el SHig

MUDRA 1 forega &9 2

(A) TR gfreE U Sawae FwErH
ot fefee

1) TR AR Us Seie TRtE T

() T gfr Yeraiie oA T
fafiee

e (D) T PR ST IHLE T

(E) 3rETa
fre B T “STelg T8 FEd & 7

(A) A

(C) gEefa
(E) 3rrfd
Prferiad o & BH-T1 T gifE 2 7
(A) TS TR STTHYH HEIH @ W

(B) ardunw gfafife s T ve
Sqrersh ; HeET

(c) Fémman gfvafife : faam

(B) WA
(D) 94

(D) T witrsh AqHum F3 : fagre

(E) e

WW%ﬁm%l
(B) g
(D) ¥ & Y 7

(A) B
(€) u

(E)



oF 7

33. WhiCh. AI"ticle .

34.

35'

36.

37.

is related to th The Indian Constitution

. O ——
Village Panchayat;gsnlz&tmn of the

(C) Article 4;  B) Article 45
(E) Not attemptEd(D} Article 40

(A) strcpy( )
(C) strrev()

D) st
(E) Not attempteq } strcat)

gnz.ab: bS: cg Abie=4:7, then
(A) 36:20: 63
(B) 63:20: 36
(C) 20: 63 : 36 s
(D) 20 : 36 : 63 o

(E) Not attempted

Recently, Jahanara Bagh Stadium in

Jhajjar district of Haryana has been

renamed as

(A) Hemchandra Vikramaditya
Stadium

(B) Narendra Modi Stadium

(C) Maharishi Dayanand Saraswati
Stadium

(D) Rao Tula Ram Stadium
(E) Not attempted

The regulated and controlled distribution

of essential goods among people means

(A) National Institute of Agricultural
Marketin - .

(B) Source of ignaﬂtural Credit in India

(C) Public Distribution System™

(D) National Cooperative
Development Corporation

) Not attempted

33.

35.

36.

37.

IRt HaU™ &1 Fig-mr sg=ae T
YEIId % HSA | Hefig 2 7

(A) TR 39 (B) IS 45

(C) 3T 41  (pf =g 40

(E) 3Tt

C s # & FmEHfem ¥ oo 4
TS FaH H1 I R S 2 7
(A) strepy() (B) strlen()

(C) strrev() (D) strcat()

(E) TSt

AMWa:b=5:93Mb:c=4:7A
Q:b:cmiﬁl

(A) 36:20: 63

(B) 63 :20:36

(C) 20: 63 : 36

{P) 20: 36 : 63

(E) 3Tt

7 & o, shamon % geer fae % SEEAm
T WLfEIm F1 AW FeeTet
feran e 21

{K) saeg fasefees wfean

(B) 7z "t wfeam

(C) el game awadt wfsan
(D) T& g 1w Rfzgm

(E) T9faa

A ° 3nEvas e & Fafa ek
Frafa faaor & fou IRt @

(A) T i famom weerm

(B) W@ H Hf¥ 0 €

(2] |t e woreft

(D) T e fewry wiohee
(E) T



s

38. “Mountbatten Plan” regarding the

partition of India was officially declared
on

(A) 10 June 1947

(B) 03 July 1947

(C) 03 June 1947 (B3¢
(D) 04 June 1947 S
(E) Not attempted

i

39. Which of the following was the theme
State of Haryana’s famous Surajkund
International Crafts Mela, 2022 ?

(A) Punjab

(B) Jammu and Kashmir
(C) Himachal Pradesh
(D) Uttarakhand

(E) Not attempted

40. A deposition of sand which results in
a long, narrow embankment in the
sea near the coast is called
(A) Lagoon (B) Latitude
(C) Beach (D) Sand bar
(E) Not attempted

Complete the following Analogy.
Cardiology: Heart:: Mycology :

(A) Shells (B) Skull

(C) Fungi (D) Diseases
(E) Not attempted

41.

42. The two general categories of crop
insurance are called
(A) Crop-price insurance and crop
insurance
(B) Crop price insurance and crop
revenue insurance
(C) Crop-yield insurance and crop
revenue insurance
(D) None of the above

(E) Not attempted

(A) 10 1947
(B) 03 T[S 1947
(©] 03 S 1947
(D) 04 S 1947
(E)

39, Sreferfiaa 3 @ F-a ghamn % TS
GG AT FHRE Hedl, 2022
I TS A1 7
(A) GeTE
(B) e 3R
(©) fewmee s
(D) STES
(E) 3tmanféd

40. YA %1 w9 fas qiome wWEY TH o,
T RFTRT g % a¢ 9L S 9 R,

E%E HETAT & | -
%‘%% {A) (B) A&
(C) | (D) Thelt o

(E) e

41. Tr=fafen gasaa @ Fivm |
m%ﬁahﬁ:w:zu@a‘m;

(A) Ha (B) Wi
{€) Ha% (D) T
(E)

42. SO S 3 e St
FEamd! g

(A) wEE Ted ST 3N FHA <y

(B) HEe e S AR BE o
(C) wEel Iared T 3 oy roreg o1
(D) Iula W | Hr§ Tk

(E) 3rsnféa

-10-



43.

45.

46.

47.

Serves as a connecting link
between Himalayas and Haryana
plains.

(A) Aravalli hills
(B) Morni hills

(C) Mewat hills
(D) Tipra hills

(E) Not attempted

E bagctnd

i

Pradhan Mantri Jan Dhan Yojana
was launched on )

(A) 28" August 2016

(B) 28™ November 2014

(C) 28" August 2014

(D) 28™ November 2016

(E) Not attempted

The largest planet of the solar system is
(A) Saturn
(C) Jupiter
(E) Not attempted

(B) Uranus
(D) Neptune

A, B and C started a business by
investing Rs. 1,20,000, Rs. 1,35,000
and Rs. 1,50,000 respectively. Find
the share of each out of an annual
profit of Rs. 56,700.

(A) 4:5:8

(B) 8:9:10

(C) 6:6:3

(D) None of these

(E) Not attempted

First Mobile Court of Haryana was
set up at Mewat in

(B) 2005
(D) 2000

(A) 2003
(C) 2007
(E) Not attempted

43.

44,

45.

46.

Bz
EE
e

-

47.

13-
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femre 3tk gfamm & feri %
= T FE 2

(A) Iraett <t gz

B) TR i et

(C) HaTa it Tarfeai

(D) feun i garfeai

(E) TSl

T S 99 AT AR
=1 fosam |

(A) 28 3T 2016

(B) 28 Ta«X 2014

(€) 28 INTE 2014

(D) 28 TEsX 2016

(E) ITomia

dem e S gea 991 1R 2
(a) W (B) T

(D) =g
(E) 3rofa

A, B 3R C 3 ®. 1,20,000, &. 1,35,000
31 ¥. 1,50,000 Fu9: oW #d g ww
FER & forn| a1fdss = €. 56,700 &

T S1feh o9 8 Teleh 1 3790 T L |
(A) 4:5:8

4B) 8:9:10

(C) 5:6:3

(D) ¥ | IS TE

(E) TS

Hara o o ghmon $t gaeht
HEge =ETed wfya feear m
(A) 2003 (B) 2005
{€) 2007 (D) 2000
(E) T



S
48. If ./15= 3.88 then find the value of J:

49,

50.

51.

52.

3

(A) 5.60
(C) 1.2933
(E) Not attempted

(B) 7.80
(D) 13.97

If D = 4 and COVER = 63, then
BASIS = ?

(A) 50

(C) 55

(E) Not attempted

(B) 54
(D) 49

In which year, British Govemmeﬂt
politically divided Haryana into two

parts ?

(A) 1805 -
(B) 1810 E?’; @3
(C) 1815 -
(D) 1800

(E) Not attempted

Mixing of unwanted substance with
water is called

(A) Sound pollution

' (B) Water pollution

(C) Nuclear pollution
(D) Soil pollution
(E) Not attempted

When did Mauryan Empire begin ?

(A) 323 BC
B) 322BC
(C) 289 BC %ﬁ
(D) 326 BC

(E) Not attempted

48.

49.

50.

51.

-12-

52.

CG - CcG23

Ife Ji5=3.888, EWWW
H |

(A) 5.60 (B) 7.80
(€) 1.2933 (D) 13.97
(E) e

7f2 D = 4 31T COVER = 63, A1
BASIS = 7

(A} 50
(C) 55
(E) T

fafeer T 3 Tehi v g H ad
 w e e o wte fean

) 1805

(B) 1810

(C) 1815

(D) 1800

(E) 3wt

w1 ¥ Ty IEitod g 1 e
FrATd 2 |

(&) & g

(B] S gl

(C) ekl g

(B) 54
(D) 49

T T 9 IE 83 7
fa) 323 BC
(B) 322 BC
(C) 289 BC
(D) 326 BC
(E) 3nwted



53.

54.

" (B) Kisan fair

55.

56,

57.

The most widespread form of

adv.e rusing and is the favourite of the
Indian rural masses

(A) Magic shows

(B) Wall painting

(C) Folk media

(D) None of the above
(E) Not attempted

In Haryana, this famous fair of
Karnal is held on every September
(A) Gopal Mochan fair

(C) Gangor fair
(D) Mango fair
(E) Not attempted

Find the average of all prime numbers
between 30 and 50.

(A) 49.8 (B) 39.8

(C) 38.8 (D) 59.8

(E) Not attempted

Which of the following is the fastest
memory in the memory hierarchy ?
(A) Primary memory

(B) Secondary memory

(C) Cache memory Eﬁg\f |
(D) Tertiary memory e

(E) Not attempted
is the earning Cfagacity in a
rural market. The cost of LiVing always
depends upon their way of Ea{)—;ungs.
So, the Income levels arc unreud e,ﬂi
most of them are€ depended upI?‘nI;om:
seasons and agricultur® Baitae

levels cannot be a fixed 0¢

(&) Lifestyle

(B) Socio-Cultural B
(C) Economy

(D) All the above

() Not attempted

.13-
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53. famme &1 w9 =s w9 3 yra
o AT 1 THLIeT @
(A) Sg & T
) fufe fom
() =i HifeE
SAS (D) vt § & A A
(E) 15

o)
54. gfEmn °§ FEE 1 98 qhg den gidad
fordee o o 8
(A) TTI9Te Hre Hell
(B) fepwm sem
C) TIPIR Hel
(D) 319 Tl
(E) 3rafad

30 A 50 % #= B Wi 3T FES
&1 3t Fd 71d S
(A) 49.8

(C) 38.8

(E)
fyfefiaa § & SF-dt 790 TeHEe 4
g8 a9 WA 2 7

(A) rfies qEd

(B) ehstt Al

(€) &3 At

(D) Fefraeh A

(E)

E'\M

55.

(B) 39.8
(D) 59.8

56.

Trfior SR § 3T &A1
Sa-T197 i HHd Fed IH I IS 5
il w R Fdt 21 3 T sifavasig
2 qifes 3 afuesiyr dEw 3 HY W i
2| a7a: 3y &R ffvead 7€ & w2
(a) Sfradell
(B) wE-gTEhfs Jsaufi
(C) Irefeae
(D) I a+ft
(E)

57.



58.

60.

61.

Which among the following districts
of Haryana is not drained by Yamuna
river ?

(A) Hisar (B) Panipat

(C) Yamuna Nagar (D) Sonipa;c

(E) Not attempted

A and B together can complete a piece of
work in 4 days, if A alone can complete
the same work in12 days. How many
days can B alone complete that work ?
(A) 7 days (B) 6 days

(C) S days (D) 8 days

(E) Not attempted

Which of the following diagram
correctly represents Elephants,

' Wolves, Animals ?

(E) Not attempted

What value will replace the question
mark in the following equation ?
2

1 1 1
i 2==]13
42+36+? 3 5

1 2

(C) 13% (D) None of these

(E) Not attempted

58.

59.

-14-

60.

61.
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preaferfa & & g 3 - e

) fam (B) AHITd

) TAFR (D) AT

(E) Jrwmid
;uﬁtBE$HWHﬁﬁﬂ“aﬁ4ﬁﬁV§$ﬁ
3 | 3R A 3 3 A 12 ol 3R
m%,ﬁthﬁeﬁﬂmﬁﬁﬁ'}'
RAi A ERaT® ?

() 7 %A B 6fa

) sf& (D) 8 fe

(E)

freferfaa & | FA-a1 s weft, wfE,
Sat ) w8 TlF A quiar @ 7

" (@
-QD

alialinenl w132
2 6 3 5

3 2
M)34 EB)3§
3 .
©) 1375 (D) % & 1$ 7
(E) 3Tyamed
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62'

65.

This.sports Person from Haryana was
nc.m'u.nated for the Dronacharya Award
(Llfe@e Category] in recognition of his
contribution to the sport of wrestling
in 2022

(A) Raj Singh Chhikkara
(B) Ravi Kumar Dahiya
(C) Vinod Kumar Dahiya
(D) Vijendra Kumar

(E) Not attempted

What is Solar Eclipse ?

(A) When Earth comes in between
Moon and Sun

(B) When Sun comes in between
Earth and Moon

(C) When Sun Rays do not reach Earth

(D) When the Moon comes in between
Earth and Sun

(E) Not attempted

India is the largest Country in
the World (in terms of area). -
A) 7 (B) 9

©) 5 (D) 8

(E) Not attempted

Battle of Karnal was fought between
and Muhammad Shah of

Mughal empire.

(A) Lord Warning —

(B) Nadir Shah AT
CREH

(C) Sadashiv Rao Bhau
(D) Siraj-ud—daula
(E) Not attempted

NDC full form is
(A) National Defc .
(B) National Directo™y gz;ll:ge
(C) National pirectory

nce Course

e
D) National Defence colleg
(E) Not attempted
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62. TN % 39 Rawe #2022 # Fedt

& Wel § 37 AeH 2 v aEré
(V8% 2139 hei) B it fem e an

(4) T T fosmma
(B) T Fum 2fean

1e) Tt om afeen
(D) iz

(E) Frwafa

63. WU RIR ?

(A) & SEAT IR g4 > &= g 37 I
(B) & gt 3R 9gm & " g 37 9

%%‘?tchaq&ﬁﬁﬁww?@- ;

64.

. 65.-

66.

(0] v et ik T % <t T o Y
(E) wanféa
yafms_ 9= (e S

e H) W R

(&) 7
©) 5
(E)

(B) 9
(D) 8 '

FEE RIS . I S

% e e & i el I |
(A) TS aifm

(B) rfex M8

(C) T TE WIS

(D) frei-3g-gen

(E) TSR

NDC %1 faega 9 2

() e fatba wrd

(B) Yy srtaedl He
(C) Ayet sratEl Hic
(D) @ 3y wic
(E) swanfia



67.

68.

69.

70.

Pehowa mela is held in which among
the following district of Haryana ?

(A) Kurukshetra
(B) Karnal

(C) Panipat

(D) Sirsa

(E) Not attempted

Who was the Chairman of Steering
Committee of Constituent Assembly ?

(A) Sardar Vallabhbai Patel
(B) K. M. Munshi

(C) Dr. B. R. Ambedkar
/D) Dr. Rajendra Prasad
(E) Not attempted

-

Find the sum of all 2 digit number

divisible by 3.

12,51, 18,200 99,

(A) 1678 (B) 1458
(C) 1669 (D) 1665

(E) Not attempted

A worker may claim Rs. 15 for each km

which he travels by taxi and Rs. 5 for

each km which he drives his own car.

If in one week he claimed Rs. 500 for

travelling 80 km, how many kms he

travels by Taxi ?

(A) 20 km
Biop i

(B) 30 km e

(C) 10 km

(D) 40 km

(E) Not attempted

2 () st
[l lEl
68. Wiy @l &l HATEH gfufa &1 AAT
i o1 ?
(A) TG FeTETs TS
(B) %. . T=h
() . . M. I
{0) =1, TNig JETg
(E) STwntad

69. @t 2 37 Y I TENAT B INT T@ B
it 39 fwr=a 2
12, 51, 18, 21,....., 99.

(A) 1678 (B) 1458
(C) 1669 (D] 1665
(E) aToantea

70. UH HHAW S @ IR HE W i fdt
15%. 3 3 FR F T = |l fed
5F. F A1 W T 8| I T Heare §
WBOMWE@%%QE 500 &l g
ferm o 3o et g ot T 6 7
(A) 20 Tersdt
(B) 30 fert
(@) 10 et
(D) 40 et
(E) TSt

18-
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71.

72.

73.

74.

Which among the following is the highest
award of Haryana State Govt. for the
outstanding Players of Haryana ?

(A) Bhim Awarg .

(B) Rani Laxmi Ba; Award

(C) Guru Vashisht Award

(D) Maharana Pratap Award

(E) Not attempted

In the mesosphere, the temperature will
(A) Decrease at first and then increase
(B) Decrease

(C) Stay the same as in the Stratosphere
(D) Increase

(E) Not attempted

A deep narrow valley with steep sides
is called a

(A) Gorge

(B) Delta

(C) V-shaped valley
(D) All the above

(E) Not attempted

&

Tl
et
X e 3
_-T‘;'.j-.-.
=[]

B

In each of the following, find the
figure from the answer set which
will continue the series given in the
problem set.

il | sy | el | ==
—_— | —
1 2 3 4 b5
-— —
a) |—= (B) | =—
‘——o

o —
S—— e
(C) |—= o). |==
— |

(E) Not attempted
17
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71, EhEmn % Ipe facieat &g gfamn o
T i AR § w9 gEar fFEffas b
A HA-T 8 7
() of TS
(B) Tt wigsft &g 3rard
(C) T® af¥re are
(D) WERTON JaTq 3FaTE
(E) JrvaniEd

qeeed #, 99

(A) TESt T R g
(B) Tm

(C) &nTEe F HaH € @

T

A D) T

Ty

& [=] (E) H'!Tlﬁl?l

73. & Ted g0 uidt foms Ty wd T
&, wgand 2l
(Ay TS
(B) e
(C) V-3ThR i ardt
(D) 3 &+
(E) wanfea

frafafga & @ vs s ag=a 4 | o=

Sfeu it wwe wy= o & ME S@en i
Tt T 2 |

72.

A

4

B3

74.

(A) (B)

(D)




75.

76.

77.

78.

79.

Which of the following numbers 75.
divisible by 3 ?

(A) 5967013 (B) 1111

(C) 541326 (D) None of these

(E) Not attempted

In March 2023, Haryana became first | 76-
State in India to achieve 100%

(A) Adult education
(B) Electrified railway network
(C) Solar installation

(D) Rural electrification "E]F"?:‘a
s
(E) Not attempted Ee
What is the reason behind red soil 77.

developing a reddish colour ?

(A) The presence of potash and magnesia
(B) Due to the presence of iron

(C) Over Grazing

(D) None of these

(E) Not attempted

Which error detection code uses a 78.
single parity bit to detect errors 7

(A) Hamming code

(B) Parity check

(C) Cyclical Redundancy Check (CRC)
(D) All of the above

(E) Not attempted

An aeroplane flies along the four 79.

sides of a square at the speeds of
200, 400, 600 and 800 km/hr.
Find the average speed of the plane | Ezg:
around the field. E‘;uﬂg
(A) 384 km/hr  (B) 444 km/hr
(C) 564 km/hr (D) 765 km/hr
(E) Not attempted

CG - CG23

ﬁqﬁ{i@aﬁaﬂq—xﬂmsaﬁm%?
(A) 5967013 (B) 1111
() 541326 (D) ¥ & ¢ T
(E) I
ard 2023 H, BT S A 100%

T T ST TEe T &1 |
(A) TTEH HIEA

| (B)ﬁ@ﬁiﬁﬁﬁ*'

(C) TR T

(o) Tmefon feregefieRt
(E) T

mw%mm%@ﬁmww%?
() trern 3 A < efefd

-7 T fEeeH Hie T H Al aM
¥ foru fimer ¥R fore =1 3wam @ @ ?

(A) 2fim g

B) A =%

(€) urfaae SRR 3% (dtam)
(D) 3w Gt

(E) 3manfaa

TS EE1E WE 200, 400, 600 3N
800 km/hr I et ¥ ws 1 A =W
SIS % WY-HY IS R | 8 F =W
3R 79T e < i iy 3

{A) 384 km/hr  (B) 444 km/hr

(C) 564 km/hr (D) 765 km/hr
(E) aTwanfa



. This f;
80 amous Monument of Buria was

built i :
d::tn(l: frh}?h.l&han 's reign in Ambala
aryana

(A) Peacock throne
(B) Raaj Mahg

(C) Rang Mahg]
(D) Red fort

(E) Not attempted

81. Classification of Rural Markets is
(A) Industria] Market

(B) Services Market

(C) Consumer Market

(D) All the above

(E) Not attempted

82. In each of the following find the
figure from the answer set which
will continue the series given in the

problem set.

L| L

117

1 2 3 4 S
(A) L‘
| L P
BT
C| —
(D) /

(E) Not attempted
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80. WW%MWWW
gfEmen & & fe § =war mn
(A) fowis T
(B) TS HEdd
() T1 e
(D) T8 B
(E) Jrtad

Trftor ST ST iRt 2
(A) 3frefies SR

(B) T SR

mE (C) IOHTHRIT SIS
Bef o) s wh

(E) FAvATRa

82, fr=feifiga # @ yois ot ay=a 4 & fm
wfen it wwEn wg= 1 € 0w
A TEar 2

L| L

1 2

L.
I

81.

L.

-

3

-

4

(A)

(B)

(C)

(D)

(E) 3rsnfea



83. Where is the Niagara river found ?

84.

85.

86.

(A) India
(B) Australia
(C) North-America

O]

e
o

T

=

(D) Japan
(E) Not attempted

Rewari Railway Heritage Museum
of Haryana had world’s oldest still
functional steam locomotive known as

(A) Himalayan Queen

(B) Fairy Queen

(C) Iron Lady

(D) Shimla Kalka Express

(E) Not attempted

Who was the Chairman of Drafting
Committee of Constituent Assembly ?

(A) Sardar Vallabhbai Patel
(B) K. M. Munshi

(C) Dr. B. R. Ambedkar

(D) Dr. Rajendra Prasad
(E) Not attempted

Complete the following Analogy.
Vitamin A : Retinol :: Vitamin C :
(A) Calciterol

(B) Niacin

(C) Tocopherol

(D) Ascorbic acid

(E) Not attempted

—,

84.

85.
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83. TN A FE 8 7

(A) ¥Rd

(B) Seferm
() Iet- 3T

(D) STAH
(E) 3w

R 3 Yard Yo e werer # favE
$ gt T 3 3 =] D bl
R wEdg|

(a) TemrerEa ==

B) &l ==

(C) ITTA T

(D) Rt SHTeteh! THE

(E) 3Totea

Afeum gy & arEy giufa &1 ey
FE o1 7
(A) TER ToeTHETs Ued

E5E :
ﬁj:;.% (B) %. wH. §ht

f0) =1, &ft. W, AT
(D) &1, Teig JETe
(E) 3tvafia

frafoRaa s gof Hifsg)
faaftm A : @ - faafem
(A) Feefietia

(B) Franfim

(C) TrhIhtiet

(D) Tehifde 3

(E) Tonida

——
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87.

89.

Nabh Chhor is the leading evening 87.
newspaper published from
district of Haryana.
(A) Palwal
(B) Hisar
(C) Sonipat
(D) Rohtak
(E) Not attempted
A sum of Rs. 800 amounts to Rs. 920 | 88.
in 3 years at simple interest. If the
interest rate is increased by 3%, it
would amount to how much ? .
(A) 995 (B) 997 5352;?
(C) 998 (D) 992 [E:3
(E) Not attempted
Complete the following Analogy. 89.
Ayurveda : Medicine :: Dhanurveda :
(A) Music
(B) Acting
E3E
(C) Archery 2 &?
(D) None of the above 527
(E) Not attempted
is the most important and 90.
widespread category, it covers 40% of
the la.'n.d area. In fa,Ct the entire Nort.hem
plains are made up of these soils.
(A) Red soil
(B) Laterite soil
(C) Alluvial soil
(D) Black soil
(E) Not attempted

21-
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v 9r, sfEmn & g
WeHIRTT 214 Gl 3ol Fer gurEngd 7 |
(A) FeTaEt

B) feEr

(C) |Ha

(D) Teash

(E) Irwantya

. 800 I uh TR 3 99 H Ty =S
W E. 920 & I ® | I = X 3%
§¢ 9Tdt 2, 91 seht uftt feat arft 2

(A) 995 (B) 997
(C) 998 (D) 992

(E) 3rvafaa
Frefefaa wwewar gt Fifem |

AT : Y o gag ;
(A) g

(B) f=a

(C) =

(D) I H & HI3 TEI

(E) arsanfia

__ waiftes waweEyl 3 gag At 2,
FaF 3T 40% -8 3Nl Bl wiew
qu Iatt Aee g6t ger @ R

(A) T ¥

(B) TXTFE 7T

(C) Selg e

(D) el wa

(E) arsrnfi



91.

92.

93.

o4.

95.

English Language

How many tense are there in English

Grammar ?

(A) 2

(C) 8

(E) Not attempted

B 3
(D) 4

Complete the following Analogy-
Before : After :: Enjoy : ————
(A) Sad

(B) Happy

() Suffer

(D) Pain

(E) Not attempted

How many types of nouns are there
in English grammar ?

(A) 6 (B) 4

(C) 2 D) 5

(E) Not attempted

Complete the following Analogy.
Hen : Pullet :: Kangaroo :
(A) Calf

(B) Pup

{C) Joey

(D) Cub

(E) Not attempted

The past participle form of the verb
‘Draw’

(A) Drew

(B) Draw

(C) Drawing

{0) Drawn

(E) Not attempted

97.

99,

100.

~22.

ot & o= F e W R 7
(A) 3 (B) 4

() 2 (D) 1

(E) STsramféd

&) a¥ 1903
(B) a¥ 1906
(C) s 1909
(D) =¥ 1900
(E) 3rsrnfya



